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Component loading diagram

To strip-side bias rail of
backside detector

Remove pins
No soldering

17/5/99

P2

P1

U1- U12                            12          7.5 x 6.35 x 0.5      ABCD chip
C1- C14, C101- C114       27         1.6 x 0.8 x 0.8        100nF, 25V
C15                                     1          3.2 x 1.6 x 1.25     330nF, 25V
C16-C18, C117, C118        5          3.2 x 1.6 x 1.25     10nF, 630V
(C17, C117, C118              3           -----                       should be open?)
R1, R101                            2          1.6 x 0.8 x 0.8       100 Ω (not required?)
R2, R3                                2          1.6 x 0.8 x 0.8       10k Ω (provisional)
R4 - R8                               5          1.6 x 0.8 x 0.8       100 Ω
R10                                     1          1.6 x 0.8 x 0.8       1k Ω
R12                                     1           ------                       jumber wire-bond
R9, R11                              2          1.6 x 0.8 x 0.8        5K Ω
TM                                      2           ???                        thermister
P1, P2                                2           2.7 x 63.5 x 0.3      pitch adaptor

Parts list

This gap is very narrow and under the SM chip.
Be careful for shorting (with solder, e.g.)

C8~C13
C108~C112
...

Solder pad
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Bias(LO)-AGND path

To 4 x dummy strips (AGND) Bias(LO)
To strip-side bias rail
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Bias(LO)-AGND path
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Note: HV connection to detectors
(1) In case of "one-point" connection, do at "B" and "C"
(2) In case of "multi-points", do at "A", "B", "C", and "D" and
      associated "backplane" connections


